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201 S
ndst{R1
201| O O|6+ 460( 101|M S | o:20| 4:38| 4:40(Velké Mezifici,,zel.st. 5:26|Trebi¢,,aut.nadr. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| 0| Of6+ 460| 102|M S 0:00| 6:33| 6:36|Trebic,,aut.nadr. 7:23|Velké Mezifici,,zel.st. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| 0| 0]|766 102| 152|M S | o00| s:08| 8:08[Velké Mezifici,,zel.st. 8:23|Osové 6,9 58 400,2 6,9 400,2 0 0 0 0 0 0 0 0
201| 0| 0|766 102| 151|M S 0.00| 823| 8:25|0sové 8:40|Velké Mexzifici,,zel.st. 6,9 58 400,2 6,9 400,2 0 0 0 0 0 0 0 0
201| O O|6+ 460( 103|M S | o00| s:40| 8:40(Velké Mezifici,,zel.st. 9:26|Trebi¢,,aut.nadr. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| 0| 0|766 384 163|M S 0:00]| 10:03| 10:05|Trebic,,aut.nadr. 10:19|Trebic,Slavice 6,8 58 394,4 0 0 0 0 0 0 0 0| 6,8 394
201| 0| 0]|766 384| 164|M S | o:00|10:19] 10:19|Trebi¢,Slavice 10:35|Trebi¢,,aut.nadr. 6,8 58 394,4 0 0 0 0 0 0 0 0| 6,8 394
201| 0| o6+ 460| 104|M S 0:00]| 10:35| 10:36|Trebic,,aut.nadr. 11:23|Velké Mezifici,, zel.st. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| O O|6+ 460( 105|M S | o:00|12:37] 12:40(Velké Mezifici,, zel.st. 13:26|Trebi¢,,aut.nadr. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| O o6+ 460| 106|M S 0:00| 14:33| 14:36|Trebic,,aut.nadr. 15:23|Velké Mezifici,, zel.st. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| O O|6+ 460( 107|M S | o00|16:37| 16:40(Velké Mezifici,, zel.st. 17:26|Trebi¢,,aut.nadr. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
201| 0| Of6+ 460| 108|M S 0:20] 18:33| 18:36|Trebic,,aut.nadr. 19:23|Velké Mezifici,, zel.st. 25,4 64 1625,6 25,4 1625,6 0 0 0 0 0 0 0 0
odst(R1 230,6 14594 217 13805,2 0 0 0 0 0 0 0
201cel 0 O S celkem 230,6 0 14594 217 13805,2 0 0 0 0 0 0 0 0 0
202 V
ndst{R1
202| 0| O|6+ 101] 102|M V | 0:20] 4:31| 4:34|Trebic,,aut.nadr. 5:43|Velka Bites,,1.BS 41 64 2624 41 2624 0 0 0 0 0 0 0 0
202| 0| Of6+ 101 101|\M V | o00o| 6:13| 6:16[Velka Bites,,1.BS 7:26|Trebic¢,,aut.nadr. 40,8 64 2611,2 40,8 2611,2 0 0 0 0 0 0 0 0
202| 0| O|6+ 101] 132|M V | o:00| 831| 8:34|Trebic,,aut.nadr. 9:15|Tasov 24,8 64 1587,2 24,8 1587,2 0 0 0 0 0 0 0 0
202| 0| Of6+ 101( 131|M V | 0.00|10:41| 10:44|Tasov 11:26|Trebic,,aut.nadr. 24,8 64 1587,2 24,8 1587,2 0 0 0 0 0 0 0 0
202| O O|6+ 101] 134|\M V | 0:00]12:31| 12:34|Trebic,,aut.nadr. 13:15|Tasov 24,8 64 1587,2 24,8 1587,2 0 0 0 0 0 0 0 0
202| 0| Of6+ 101( 133|M V | 0.00|14:41| 14:44|Tasov 15:26|Trebic,,aut.nadr. 24,8 64 1587,2 24,8 1587,2 0 0 0 0 0 0 0 0
202| O O|6+ 101| 104|\M V | 0:00]16:31| 16:34|Trebic,,aut.nadr. 17:43|Velka Bites,,1.BS 41 64 2624 41 2624 0 0 0 0 0 0 0 0
202| 0| Of6+ 101 103|M V | o:20| 18:13| 18:16|Velka Bites,,1.BS 19:26|Trebic,,aut.nadr. 40,8 64 2611,2 40,8 2611,2 0 0 0 0 0 0 0 0
odst(R1 262,8 16819,2| 262,8 16819,2 0 0 0 0 0 0 0
202cel 0 O Vv celkem 262,8 0 16819,2 262,8 16819,2 0 0 0 0 0 0 0 0 0
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209 S
o ndst|R1
209| 0| of766 | 102| 172(Mm S | 020| 717| 7:20|Tasov 7:28|Dolni Hefmanice 3,4] 58 197,2 3,4 197,2 0 0 0 0 0 0 0 0
209| 0| 0]766 102| 171|\M S | 000| 7:28] 7:30|Dolni Hefmanice 7:38| Tasov 4,8 58 278,4 4,8 278,4 0 0 0 0 0 0 0 0
209| 0| of766 | 102| 102(Mm S | 000| 9:03| 9:06|Tasov 9:33|Velké Mezifigi,,skola 14,1 58 817,8| 14,1 817,8 0 0 0 0 0 0 0 0
209( 0| 0|766 |prejezd M S | o00| 9:33] 9:33|Velké Mezifici,,Skola 9:38|Velké Mezifici,,zel.st. 3,2 58 185,6 3,2 185,6 0 0 0 0 0 0 0 0
209| 0| 0f766 | 102| 154(Mm S | o00]1002| 10:05|Velké Mezifici, Zel.st. 10:20|Osové 6,9 58 400,2 6,9 400,2 0 0 0 0 0 0 0 0
209| 0| 0]766 102| 101|M S | 0:20]10:20] 10:20{Osové 10:56|Tasov 16,6 58 962,8 16,6 962,8 0 0 0 0 0 0 0 0
o odst(R1 49 2842 49 2842 0 0 0 0 0 0
209cel 0 O S  celkem 49 0 2842 49 2842 0 0 0 0 0 0 0 0
210 M prohodit Rohy Tasov kategorie
o ndst|R1
210| 0| 0]766 102| 162|M M | 0:20| 7:17| 7:20(Rohy 7:30|BudiSov 6,7 58 388,6 6,7 388,6 0 0 0 0 0 0 0 0
210| 0| of766 | 102| 161(M M | o:00| 7:30| 7:30|BudiSov 7:36|Hodov 3,8] 58 220,4 3,8 220,4 0 0 0 0 0 0 0 0
210| 0| 0]766 102| 164|M M | o:00| 7:36| 7:40|Hodov 7:46|BudiSov 3,8 58 220,4 3,8 220,4 0 0 0 0 0 0 0 0
210| 0| of766 | 102| 163(M M | o:00| 9:07| 9:10|BudiSov 9:16|Hodov 3,8] 58 220,4 3,8 220,4 0 0 0 0 0 0 0 0
210| 0| 0]766 102| 166|M M | o:00| 9:16 9:17|Hodov 9:23|BudiSov 3,8 58 220,4 3,8 220,4 0 0 0 0 0 0 0 0
210| 0| of766 | 102| 165(M M | 0:20| 9:23] 9:23|Budisov 9:33|Rohy 6,7 58 388,6 6,7 388,6 0 0 0 0 0 0 0 0
o odst|R1 28,6 1658,8( 28,6 1658,8 0 0 0 0 of o o
210cel 0 O M  celkem 28,6 0 1658,8 28,6 1658,8 0 0 0 0 0o o0 0 0 0
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224 V
ndst|R1
224| 0| O]+ 455( 101|M V | 0:20| 7:52| 7:55|Trebi¢,,aut.nadr. 8:52|Mohelno 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224 O Of6+ 455] 104(M V | 0:00|10:28| 10:31[Mohelno 11:30|Trebi¢,,aut.nadr. 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224| 0| 0|6+ 455( 103|M V | 0:00|12:28| 12:31|Trebi¢,,aut.nadr. 13:28|Mohelno 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224 0| Of6+ 455] 106(M V | 0:00| 14:28| 14:31|Mohelno 15:30|Trebi¢,,aut.nadr. 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224| 0| 0|6+ 455( 105|M V | 0:00]|16:28| 16:31|Trebi¢,,aut.nadr. 17:28|Mohelno 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224 O Of6+ 455] 108(M V | 0:00| 18:28| 18:31[Mohelno 19:30|Trebi¢,,aut.nadr. 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224| 0 0|6+ 455( 107|M V | 0:00|19:30| 19:31|Trebi¢,,aut.nadr. 20:28|Mohelno 36,5 64 2336 36,5 2336 0 0 0 0 0 0 0 0
224 Of Of+ 455] 110(M V | 0:00|20:28| 20:32(Mohelno 21:48|Nova Ves, MANN+HUMMEL 45,8 64 2931,2 45,8 2931,2 0 0 0 0 0 0 0 0
224| 0| O]+ 455( 109|M V | 0:20] 21:48| 21:50|Novéa Ves,, MANN+HUMMEL | 22:13|Trebi¢,,aut.nadr. 13,7 64 876,8 13,7 876,8 0 0 0 0 0 0 0 0
odst{R1 315 20160 315 20160 0 0 0 0 0 0 0
224cel 0 O Vv celkem 315 0 20160 315 20160 0 0 0 0 0 0 O 0 0
214 S
ndst|R1
214 Of Of6+ 450] 102(M S | 0:20| 5:05| 5:07|Namést n.Osl.,,aut.nadr. 5:42|Velka Bites,,1.BS 18,6 64 1190,4 18,6 1190,4 0 0 0 0 0 0 0 0
214| 0| 0|6+ 450( 101|M S | o00| 6:05| 6:10|Velka Bite$,,1.BS 6:43|Namést n.Osl.,,aut.nadr. 18,1 64 1158,4 18,1 1158,4 0 0 0 0 0 0 0 0
214 0 0766 453] 102(M S | 0.00]10:25] 10:26|Namést n.Osl.,,aut.nadr. 10:47|Koné&sin 12,6 58 730,8 12,6 730,8 0 0 0 0 0 0 0 0
214| 0| 0]766 453( 101|M S | 000|12:02| 12:05|Konésin 12:28Namast n.Osl.,,aut.nadr. 12,6 58 730,8 12,6 730,8 0 0 0 0 0 0 0 0
214 Of Of6+ 450] 104(M S | 0:00|17:05| 17:07[Namést n.Osl.,,aut.nadr. 17:42|Velka Bites,,1.BS 18,6 64 1190,4 18,6 1190,4 0 0 0 0 0 0 0 0
214| 0| 0|6+ 450( 103|M S | 0:20|18:05| 18:10|Velka Bite$,,1.BS 18:43|Namést n.Osl.,,aut.nadr. 18,1 64 1158,4 18,1 1158,4 0 0 0 0 0 0 0 0
odst{R1 98,6 6159,2 98,6 6159,2 0 0 0 0 0 0 0
214cel 0 O S celkem 98,6 0 6159,2 98,6 6159,2 0 0 0 0 0 0 O 0 0
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220 V
o ndst|R1
220| 0| Oo|6+ 480( 102|M V | 0:20| 7:45| 7:48|Moravsky Krumlov,,Zel.st. 9:23|Tiebic,,aut.nadr. 61,5 64 3936 45,5 2912 16 1024 0 0 0 0 0 0
220| of of6+ 421] 104|M V | 000 9:23| 9:23|Trebi¢,,aut.nadr. 9:49|Okfisky,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6 102
220| Oof o6+ 421] 103|M V | 0.00|10:07| 10:10|OkFisky,,aut.nadr. 10:37|Tfebic,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6/ 102
220| of of6+ 480| 103|M V | o000( 10:37]| 10:37|Tfebi¢,,aut.nadr. 12:12|Moravsky Krumlov, Zel.st. 61,5 64 3936 45,6 2918,4 15,9 1017,6 0 0 0 0 0 0
220| 0| O|6+ 480( 106|M V | 000|15:45| 15:48|Moravsky Krumlov,,Zel.st. | 17:23|TFebi¢,, aut.nadr. 61,5 64 3936 45,5 2912 16 1024 0 0 0 0 0 0
220| of of6+ 421| 108|M V | o00|17:23| 17:23|Tfebi¢,,aut.nadr. 17:49|Okfigky,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6 102
220| Oof of6+ 421] 107|M V | o0.00|18:07| 18:10|OkF¥isky,,aut.nadr. 18:37|Trebic,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6/ 102
220| of of6+ 480| 107|M V | o0:20( 18:37| 18:37|Tfebi¢,,aut.nadr. 20:12|Moravsky Krumlov,,zel.st. 61,5 64 3936 45,6 2918,4 15,9 1017,6 0 0 0 0 0 0
o odst(R1 304 19456( 233,8| 14963,2 63,8 4083,2 0 of of o 0 of o] o
220cel 0 O V  celkem 304 0 19456 233,8 14963,2 63,8 4083,2 0 0 0 O 0 0o 0 O O 0
229 S
o ndst|R1
229| 0of o6+ 480| 172|M S | 0:20| 430 4:31|Rouchovany 5:23|TFebi¢,,aut.nadr. 34,9 64 2233,6 34,9 2233,6 0 0 0 0 0 0 0 0
229| 0o of6+ 421] 102|M S | o00| 5:23| 5:23|Trebi¢, aut.nadr. 5:49| Okfisky,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6 102
229| 0of o6+ 421] 101|M S | 0:00| 6:09| 6:10|Okfisky, aut.nadr. 6:37|TFebi¢,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6/ 102
229| Oof of6+ 480| 101|M S | o00| 637| 6:37|Trebi, aut.nadr. 8:12|Moravsky Krumlov,,zel.st. 61,5 64 3936 45,6 2918,4 15,9 1017,6 0 0 0 0 0 0
229| 0| 0|6+ 480( 104|M S | 0:00|11:47| 11:48|Moravsky Krumlov,,zel.st. [ 13:23|Tfebic,,aut.nadr. 61,5 64 3936 45,5 2912 16 1024 0 0 0 0 0 0
229| 0o of6+ 421| 106|M S | 0:00|13:23| 13:23|Trebi¢,, aut.nadr. 13:49|Okfigky,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6 102
229| 0of o6+ 421] 105|M S | 0:00]14:09| 14:10|OKkfisky, aut.nadr. 14:37|Trebic,,aut.nadr. 14,5 64 928 12,9 825,6 0 0 0 0 0 0| 1,6/ 102
229| Oof of6+ 480| 105|M S | 0:00|14:37| 14:37|Trebi¢, aut.nadr. 16:12|Moravsky Krumlov, Zel.st. 61,5 64 3936 45,6 2918,4 15,9 1017,6 0 0 0 0 0 0
229| 0| 0|6+ 480( 152|M S | 0:00|19:47| 19:48|Moravsky Krumlov,,zel.st. [ 20:40|Hrotovice,,aut.nadr. 34 64 2176 18 1152 16 1024 0 0 0 0 0 0
229| 0| 0|6+ [prejezd M S | 0:20| 20:40| 20:40|Hrotovice,,aut.nadr. 20:48|Rouchovany 6,3 64 403,2 6,3 403,2 0 0 0 0 0 0 0 0
o odst(R2 317,7 20332,8| 247,5 15840,0 63,8 4083,2( 0,0( 0,0/ 0,0/ 0,0, 0,0( 0,0/ 0,0 0,0
229cel 0 O S celkem 317,7 0 20332,8 247,55 15840 63,8 4083,2 0 0 0 O 0 0o 0 O O 0
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230 V
ndst{R1
230| O of6+ 482| 152|M V | 020 549| 5:52|Biskupice-Pulkov,Biskupice 6:47|TFebi¢,,aut.nadr. 32,9 64 2105,6 32,9 2105,6 0 0 0 0 0 0 0 0
230| 0o 0|766 384( 161|M V | o0o| 647| 6:47|Tfebi¢, aut.nadr. 6:55|Trebi¢,Slavice 6,2 58 359,6 0 0 0 0 0 0 0 0| 6,2 360
230| 0| 0]|766 384| 162(|M V | 0:00| 6:55| 6:55|Trebi¢,Slavice 7:11|Tiebig,,aut.nadr. 6,8 58 394,4 0 0 0 0 0 0 0 0| 6,8 394
230( O of6+ 482| 101|M V | o0o| 711| 7:11|T¥ebi¢, aut.nadr. 8:39|Tavikovice,,host. 53,2 64 3404,8 51,6 3302,4 1,6 102,4 0 0 0 0 0 0
230| Of o6+ 482| 102|M V | 000 9:15| 9:18|Tavikovice,,host. 10:47|Trebic,,aut.nadr. 53,2 64 3404,8 51,5 3296 1,7 108,8 0 0 0 0 0 0
230( of ofx stfid| V | o040|11:29| 10:47|T¥ebis,,aut.nadr. 11:08|Trebi&,, aut.nadr.
230| O 0|6+ 482( 103|M V | 0:00|11:08| 11:11|Ttebi¢,,aut.nadr. 12:39|Tavikovice,,host. 53,2 64 3404,8 51,6 3302,4 1,6 102,4 0 0 0 0 0 0
230( O of6+ 482| 104|M V | o000|13:15| 13:18|Tavikovice, host. 14:47 | Tebi¢,, aut.nadr. 53,2 64 3404,8 51,5 3296 1,7 108,8 0 0 0 0 0 0
230| O O|6+ 482 105|M V | 0:00]|15:08| 15:11|Ttebi¢,,aut.nadr. 16:39| Tavikovice,,host. 53,2 64 3404,8 51,6 3302,4 1,6 102,4 0 0 0 0 0 0
230| 0o of6+ 482| 106|M V | o00|17:15| 17:18|Tavikovice, host. 18:47 | Tiebi¢,, aut.nadr. 53,2 64 3404,8 51,5 3296 1,7 108,8 0 0 0 0 0 0
230| O O|6+ 482 151|M V | 0:20] 19:08| 19:11|Ttebi¢,,aut.nadr. 20:08 | Biskupice-Pulkov,Biskupice 32,9 64 2105,6 32,9 2105,6 0 0 0 0 0 0 0 0
odst|R1 398 25394| 375,1| 24006,4 9,9 633,6 0 0 of o] o
230cel 0 O V  celkem 398 0 25394 375,1 24006,4 9,9 633,6 0 0 0 0 O O 0
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233 S
ndst|R1
233| 0 0|6+ 370| 172(|M S | 0:20] 5:05| 5:07|Moravské Budgjovice, aut.nadr. 5:40|Trebic,,aut.nadr. 24,5 64 1568 24,5 1568 0 0 0 0 0 0 0 0
233| 0| O|6+ 370| 171|M S | 000| 6:18| 6:20|Trebic,,aut.nadr. 6:53 |Moravské Budsjovice, aut.nadr. 24,5 64 1568 24,5 1568 0 0 0 0 0 0 0 0
233( 0 0766 430] 171 (M S | 000| 6:53| 6:53|Moravské Budgjovice, aut.nadr. 7:12|Jaroméfice n.Rok.,Pfilozany 17,7 58 1026,6 17,7 1026,6 0 0 0 0 0 0 0 0
233| 0| 0]766 430| 172|M S | 000| 7:12| 7:13|Jaroméfice n.Rok.,PFiloZany 7:19|Jaroméfice n.Rok., autnadr. 4 58 232 4 232 0 0 0 0 0 0 0 0
233| 0 0766 430] 173(M S | 000| 856| 8:58|Jaroméfice n.Rok.,,aut.nadr. 9:03 |Jaroméfice n.Rok.,Pfilozany 4 58 232 4 232 0 0 0 0 0 0 0 0
233| 0| 0]766 430| 174|M S | 0:00| 9:03| 9:03|Jaroméfice n.Rok.,PFiloZany 9:26 |Moravské Budsjovice, aut.nadr. 17,7 58 1026,6 17,7 1026,6 0 0 0 0 0 0 0 0
233| 0| Of6+ 373| 101|M S | 000| 9:48| 9:50|Moravské Budgjovice,,aut.nadr.| 10:59|Vraténin 45 64 2880 23,5 1504 21,5 1376 0 0 0 0 0 0
233| 0| O|6+ 373| 104|M S | 0:00]|12:59| 13:01|Vraténin 14:09 | Moravské Budgjovice, aut.nadr. 45 64 2880 23,5 1504 21,5 1376 0 0 0 0 0 0
233| 0 0|6+ 370| 178({M S | 0:00]17:05| 17:07|Moravské Budg&jovice, aut.nadr. |  17:40|Tfebi¢,,aut.nadr. 24,5 64 1568 24,5 1568 0 0 0 0 0 0 0 0
233| 0| 0|6+ 370| 177|M S | 0:20]18:18| 18:20|Trebi¢,,aut.nadr. 18:53 | Moravské Budgjovice, aut.nadr. 24,5 64 1568 24,5 1568 0 0 0 0 0 0 0 0
odst|R1 2314 14549,2 188,4| 11797,2 43 2752 0 0 0 0
233cel 0 O S celkem 2314 0 14549,2 188,4 11797,2 43 2752 0 0 0 0 0 0
235 S
ndst|R1
235| 0f 0]+70 330| 102|M S | 0:20]19:09| 19:12|OKkfisky, zel.st. 20:07|Batelov,,zel.st. 35,4 51 1805,4 35,4 1805,4 0 0 0 0 0 0 0 0
235| 0f 0]+70 330| 101|M S | o0:20]20:42| 20:45|Batelov,,Zel.st. 21:46|Nova Ves, MANN+HUMMEL 37,9 51 1932,9 37,9 1932,9 0 0 0 0 0 0 0 0
odst|R1 73,3 3738,3 73,3 3738,3 0 0 0 0 ol 0 O
235cel 0 O S celkem 73,3 0 3738,3 73,3 3738,3 0 0 0 0 0 0 O 0 0




